Be a Good Egg  (1N10.36)

Location: 18-top

Concept/Purpose:  Impulse and Thrust
Procedure/Explanation: This demo can be considered as a small simulation of a car collision. The apparatus consists of a metal rod mounted on a long board with a small “car” that is free to slide along the rod. A piece of rubber tubing is used to sling shot the car along the rod to collide with a large piece of foam mounted on the end. An egg represents the person in the car collision here. The egg is held in place with Velcro, like a person would be with a seatbelt, and the car is launched. The car does not sustain any damage because of the long collision time with the foam, nor does the egg sustain any damage while it is seat belted to the car. Now the car is launched again, but this time the egg is not seat belted in. This results in the egg continuing through the air after the car/foam collision and hitting the Plexiglas windshield on the front of the car. Even though the car collision time is long the eggs collision time with the windshield is short resulting in a large force that breaks the egg.

